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3—1. &E (FHX)

Coulomb Potential Energy

h
I

201 -37.92 |

-34.50
-32.66 | -32.66 | -32.66 | -32.66
-30.75 | -30.75 | -30.75 | -30.74
-28.78 | -28.77 | -28.77 | -28.76 | -28.75
-26.72 | -26.72 | -26.72 | -26.71 | -26.70
-24.58 | -24.58 | -2458 | -24.57 | -2456 | -24.55 | -24.54 | -24.52 | -24.51
-22.35 | -22.35 | -22.34 | -22.34 | -22.33 | -22.32 | -22.31 | -22.30 | -22.28
-20.03 | -20.03 | -20.02 | -20.02 | -20.01 | -20.00 | -19.99 | -19.97 | -19.96
-17.60 | -17.60 | -17.60 | -17.60 | -17.58 | -17.57 | -17.56 | -17.55 | -17.53 izl
-15.07 | -15.07 | -15.07 | -15.06 | -15.05 | -15.04 | -15.03 | -15.01 | -15.00

* -12.42 -12.42 -12.42 -12.41 —1‘ -12.39 -12.38 -12.36 -12.35
4

-9.6 -9.65 -9.65 -9.64 -9.64 -9.62 ‘Q.se -9.60 -9.59 -9.57

b -6.67 -6.67 -6.74 -6.73 -6.72 -6.71 -6\0\ -6.68 -6.68 -6.68
05] -3.62 .77 -3.77 -3.77 -3.76 -3.76 -3.75 -3.73 ‘\3.71 -3.69 -3.66

0.4] -0.44 -0.61 -0.61 -0.61 -0.60 -0.59 -0.58 -0.56 -N -0.52 -0.50

03] 285 2.76 2.73 2.72 2.72 2.73 2.75 2.76 2.79 ‘\2.73 2.76

02] 633 6.22 6.22 6.10 6.10 6.10 6.13 6.15 6.18 h\ 6.24

0.1] 10.00 9.50 9.50 9.50 9.55 9.55 9.60 9.65 9.70 9.75 N9.80

WG 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 k
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ERR D

NT VT —na

t=1000 COlEE T XL

Result of the movement (t=1000)
Coulomb Potential Energy

h
20| 37.92
I 10| 36.20
TS b 18| -3a.41
17| 3257 3266 | -32.66 | -32.66 | -32.66
_ 16| -30.67 -30.75 | -30.75 | -30.75 | -30.75 | -30.74 | -30.74 W
Wt T 15| -28.68 2878 | 2878 | 2877 | -28.77 | -28.76 | -28.75 | -28.74 @ -28.73
14| 2661 2672 | 26.72 | 2672 | -26.72 | 26.71 | -26.70 | -26.69 | -26.67 | -26.66
13| -24.47 2458 | 2458 | 2458 | 2458 | 24.57 | -2456 | 2455 | 2454 | 2452  -24.51
] 12| -22.23 2235 | 2235 | -2235 | -22.34 | -22.34 | -22.33 | -22.32  -22.31 | -22.30 | -22.28
AU T 1.1] -19.90 2002 | 2003 | 2003 | -2002 | -20.02 | -2001 | -20.00 | -19.99 | -19.97 | -19.96
10| -17.48 - 1760 | -17.60 | -17.60 @ -17.60 | -17.60 | -17.58 | -17.57 | -17.56 | -17.55 | -17.53 Bfeial
09| -14.904 1507 | 1507 | 1507 | -1507 | 1506 | -1505 | -1504 | -1503 | -1501 | -15.00
— 08| -12.29 1238 | 1242 | 1242 | 1242 | 1241 | 1240 | -12.39 | -12.38 | -1236 | -12.35
=fat T 07| -9.53 064 | 965 | 965 | -9.64 | 964 | 962 | 958 960 | 959 | 957
06| -667 667 | 667 | 674 | 673 | 672 | 671 | -670 | 668 | -6.68 | -6.68
05| -362 371 | 377 | 377 | 376 | 376 | 375 | 373 | 37 | 369 | -366 | |
PP 04| 044 061 | 061 | 061 | 060 | 059 058 | 056 | 054 | 052 050 i
03| 285 276 | 273 | 272 | 272 | 273 | 275 | 276 | 279 | 273 | 276
02| 633 622 | 622 | 610 | 610 | 610 | 613 | 615 | 618 | 621 | 624
01| 1000 950 | 950 | 950 | 955 | 955 | 960 | 965 | 970 | 975 | 980 C
C I it 0.2 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0
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#E1TIZ"GS_14.R”

#

? B E=AKFICLAE }

¥ EHFOHEEFHLRHE %, ﬁf‘?h[‘b‘é #
#>3IaL—>3 BBDTING MNE Th EEZSE

#
# [ATE# (BER) ] [RF#] DRE #
args <~ commandArgs()

is.nalargs[6]) == T

h <=1

h 'as. real(args[6]

iflis.nalargs[7]) == T
time <- 1000

time <- as.integer(args[7]

is.nalargs[8]) ==
m<-0

m <- as. integer(args(8]) -1
"(is.nalargs(9]) ==

nn

nn <- as. integer(args[9]

»m »

cat((mt1 ,m,"[BH",”
print Sys tlme

»

n START <- 1

go R START 0.002 * n_START
go R STEP <- 0.002

START_TIME rep(0, length=(nn+1
stock proc. time

START_TIME[1] stock[3]

lap <- rep(0, length=2)

n <- 100
const <~ 1

go e 0.01
const2 0.05

#
# width : BE)EREFF DRE #

width 2
Length width % h
X_max width

X min -width

y max <- length

y min <- -length
sqrtin

r2 Z*W|dth/n2
r2

x2 sub <- r2/4

y2 < 2*length/n2

y2 sub <~ y2/2

f criteria <- const/(x2

scale_time 0:time

#
# FF OB (x, y) DRZE #

go R <~ go R START + go R STEP * m
scale_sub <- go R/go e

- matrix(0:0,n, (timet1))
matrix(0:0,n, (time+1))

_cp <~ matrix(0:0,n,8)

cp matrix(0:0,n,8)

X

y s

X

Y a

V <~ rep(0, length={timet+1)
#

t

R F DITHHEDRE #

for(i in 1:n2)

or (j I n2 {

|%%2 {
-1 *n2+J 1] <= x_min + x2_sub + (j-1)*x2
y i=1)%n2+j, 1] <~ y max - (y2 sub + (i-1)xy2)
lelse

x| (i=T)%n2+j, 11 <= x_min + x2 sub*3 + (j-1)%x2
yL(i=T)*n2+j, 1] < y max - (y2_sub + (i-1)%*y2)

¢

UrtJ:Héf”é?jEEﬁE HDRE #
: BHFREICE I BZHED x HEDT #
%ﬁ%f’?ha&ﬁé%ﬁﬁ@ y AEDT #
(7 (A... iBEHDHF, B...1iEx, 2Usy) ICB< HOAEE ¢
43 %E@h?h@()’]@A SFOAE & abs{sun{f i)} #
P 0—OYHDFEICL > TBEIL /=51 or 0) £

matrix(0,n, n
matrix(0,n, n
matrlx 0,n, 2 by row=T
rep(0: 0 length n
matrix @, n, (timet+1), byrow=T

# #
# BFRIIC B B R FRIDIIDEHE #

< X

S S e S R R
@
D

[
< x

©

s

or(k 1:time
f x matrix(0:0,n,n)
fy matrix(0:0,n,n)
f matrlx 0,n,2, byrow=T)
i T:n
x cpli, 1] < x[i, k] - 2%xwidth
y cpli, 1] <= yli, k] + 2xlength
x_cpli, 2] x[i, k]
y cpli, 2] <~ yli, k] + 2xlength
x_cpli, 3] <= x[i, k] + 2xwidth
y cpli, 3] yli,k] + 2%length
x_cpli, 4] xLi, k] - 2*width
y cpli, 4] <= yli, k]
x cpli,b5] <= x[i, k] + 2xwidth
y cpli, 5] <~ yLi, k]
x_cpli, 6] <- xLi, k] - 2*«width
y cpli, 6] yli, k] - 2xlength
x_cpli, 7] x[i, k]
y cpli, 7] yli, k] = 2xlength
x cpli,8] < x[i,k] + 2*width
y cpli,8] yli, k] - 2xlength
i T:(n-1
or(j in (it+1):n
r sqrt((x[i, k1-x[j, k1)"2 + (y[i, kl-y[j, k1)"2
fxli, il const/(r"2) * (x[i, ki-x_j, k]l
fyli, ] const/(r"2) * (yl[i, kl-y[], kIl
fxlj,i const/(r"2) * (x[j,kl-x_i, k)
foyli,i const/(r"2) * (y[j, ki-yli, k]
for (L 1:8)
fr > sart((x[i, kl-x_cplj, L1)"2 + (y[i, kil-y cplj, 11)72))
r sqrt( x‘lk-xcpfj,l'A2+ yLi, k]-y_cplj, L1)72)
f x[i, ] < const/(r"2) * (x[i,kl-x cp[j, L
foyli, j1 <~ const/(r"2) * (y[i, k]-y_cp[j, L
f x[j,i] const/(r"2) * (x cplj, LI-xLi, k1)
f ylj, il < const/(r"2) % (y cplyj, LI-y[i, k]
check <~ L
Vik] Vik] - log(r
Vik] < Vlk1/n
# o #
t BAUCH I BHFDEIFBIDEE B8 #
random 1 <~ runif(n)
ESEC :n)

Flil < sqrt(f[i,11°2 + f[i,21"2
# MTRERES #
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+ I +++ +

+

x[i, k1 + go_exf[i,11/F i[i
"kt < yli k1 + go exfli. 21/ ili

x[i,kt1] + go Rkcos(random 1[i *2xpi
yli,k+1] + go Rxsin(random 1[ i |*2%pi

2xwidth
2xlength

2%length
2%width
2xlength
2xwidth
2xwidth

2%width
2xlength

2%length
2%width
2%length
x[i, kt11 = x max

x min = x[i, k+1

y min + (yli,kt1! - y max

y min = yli, k+1

f ilil > fcriteria
e rli,k |
xLi, kt1
yli
x[ i, k41 x[i, k
yli, k+1 yli, k
¥ ZoIATF—T

x[i, k+1

yli, kt1

x cpli, 1 x[i, k+1

y cpli, 1 yli, kt1

x cpli,2 x[i, k+1

y cpli,2 yli, k+1

x cpli,3 x[i, k+1

y cpli,3 yli, k+1

x cpli, 4 x[i, k+1

y cpli, 4 yli, k+1

x cpli,b x[i, k+1

y cpli,b yli, k+1

x cpli, 6 x[i, k+1

y cpli, 6 yli, k+1

x cpli, 7 x[ i, k+1

y cpli,7 yli, k+1

x cpli,8 x[ i, k+1

y cpli,8 yli, k+1

“(xLi, kt1] > x_max
x[i, k1] x_min +
F(xLi, k+1] < x_min
x[i, k41 X _max -
yli, k+1] > y max
yli, k1
5 yli, k1] <y min
yli, kt1 y_max -
i 1:(n-1
j i+1):n

r sqrt((xli, ki-x[j, kl1)"2 + (yli, kl-ylj,k!)"2
or (L :8

iIi;
r > sart((x[i, kl-x_cplj, L1)"2 + (yl[i, kl-y_cplj, L1)"2

r sqrt((x[i, kl-x_cplj, L1)72 + (y[i, kl-y_cplj, L1)"2
Vi timet1 Vitime+1] - log(r
Vitimetl Vitime+1]/n
# #
#.pngZ7 7 A I~DHI #
file_name sprintf(”"GS_14 %02d. png”, m+1
title <~ paste(” h = ",h,” , C =", scale_sub
png(file_name
plot(scale_time,V, xlab="tine”, ylab="V _potential”, type="0", main=title
dev. off
#

#
# FHEEFE DO #

stock proc. time
START_TIME[m+2 stock[3
lap[ 1

START TIME(m+2] - START TIME[m+1

lap( 2 START_TIME[m+2] - START_TIME[1

i 1:2

hour 0

minute 0

second 0

m_second 0
lap[i] >= 3600
hour as. integer (lap[i1/3600
lap[i! <~ lapli| - hour * 3600
lap[i] >= 60
minute as. integer (lap[il/60
lapli lap[i] - minute * 60

second as. integer(lap

m_second lap[i] - second) * 1000
i == cat("lap : ", hour,”[h]”, minute, "[m]”, second, "[s]”

i == 2) cat("elapsed :

", hour, "[h]”, minute, "[m]”, second

o

m
S

_second, "[ns]”,”

5
17, m_second,

"[ns]

no»
’

print(Sys. time
cat("¥n”

mtl) ==

=3

>

n

i
OONDTTAWN =

system
system
system
system
system
system
system
system
system

"Rscript
"Rscript
"Rscript
"Rscript
"Rscript
"Rscript
"Rscript
"Rscript
"Rscript

GS
GS
GS
GS
GS
GS
GS
GS
GS

020 20 20 20 0 20 20 0

P PR P P P P )

1000
1000
1000
1000
1000
1000
1000
1000
1000

= © 00~ U1 WN

IS)
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